		-		T	1		2		3		4		 5		6
	R	RECEIVE	ED: Wednesday July 12, 2023 @ 10:30 A.M.	Stavola Cont	racting Co., Inc	DeSantis Co	nstruction Inc	Black Rock Er	nterprises, LLC	Top Line Cons	struction Corp.	America	n Asphalt	Stilo Excavation Inc.	
		2023-02	CAPITAL ROADWAY RESURFACING PROJECT	175 Dr	ift Road	P.O. Box 6030		1316 Englis	htown Road	22 Fiftl	h Street	818 Sun	nmer Ave	2907 So. 0	Clinton Ave
			Independence Drive	Tinton Fal	ls, NJ 07724	Somerse	t, NJ 08875	Old Bridge, NJ 08857		Somerville, NJ 08876		Newark,	NJ 07104	South Plainf	ield, NJ 07080
Α	Bid Bond	or Certif	ried Check	Yes		Y	'es	Yes		Υ	es	Y	'es	Y	'es
В	Consent	of Surety		Yes		Y	res .	Yes		Yes		Υ	'es	Y	'es
С	Bidder's	Qualificat	tions	Yes		Y	res .	Y	es	Yes		Y	'es	Y	'es
D	Equal En	nploymer	nt Affirmative Action	١ ١	'es	Y	res es	Y	es	Yes		Υ	'es	Y	'es
E	E Non-Collusion Affidavit		1	'es	Y	es es	Y	es	Υ	es	Yes		Y	'es	
F	Stockhole	der Discl	osure	\ \ \ \ \	'es	Y	'es	Y	es	Υ	es	Yes		Y	'es
	APPRO	OXIMATE													
ITEM NO.	QUAN	ITITIES	DESCRIPTION OF MATERIALS, GRADES, ETC.											UNIT PRICES	AMOUNT
			Independence Drive												
1	1	L.S.	Traffic Control	\$1,052.42	\$1,052.42	\$4,900.00	\$4,900.00	\$15,343.06	\$15,343.06	\$4,698.09	\$4,698.09	\$9,450.00	\$9,450.00	\$0.01	\$0.01
2	100	H.R.	Traffic Director, Flaggers	\$98.00	\$9,800.00	\$98.00	\$9,800.00	\$98.00	\$9,800.00	\$98.00	\$9,800.00	\$98.00	\$9,800.00	\$98.00	\$9,800.00
3	1	L.S.	Fuel Price Adjustment	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
4	1	L.S.	Asphalt Price Adjustment	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
5	6,000	S.Y.	HMA Milling 3" or Less	\$4.23	\$25,380.00	\$3.00	\$18,000.00	\$4.00	\$24,000.00	\$3.09	\$18,540.00	\$3.98	\$23,880.00	\$5.25	\$31,500.00
6	25	C.Y.	Unclassified Excavation (If and Where Directed)	\$185.32	\$4,633.00	\$0.01	\$0.25	\$0.01	\$0.25	\$0.01	\$0.25	\$1.00	\$25.00	\$0.01	\$0.25
7	600	S.Y.	Dense Graded Aggregate, 4" Thick (If and Where Directed)	\$0.01	\$6.00	\$0.01	\$6.00	\$0.01	\$6.00	\$0.01	\$6.00	\$0.01	\$6.00	\$0.01	\$6.00
8	500	L.F.	Crack Sealer, 1/4" to 1/2" Width (If and Where Directed)	\$1.49	\$745.00	\$2.00	\$1,000.00	\$1.00	\$500.00	\$0.01	\$5.00	\$1.50	\$750.00	\$0.01	\$5.00
9	150	TON	Hot Mix Asphalt, 19M64, 4" Thick (If and Where Directed)	\$1.00	\$150.00	\$78.00	\$11,700.00	\$0.01	\$1.50	\$0.01	\$1.50	\$0.01	\$1.50	\$0.01	\$1.50
10	0	SY	Hot Mix Asphalt Driveway repair, 3" Thick (if and Where Directed)	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
11	600	Gal	Tack Coat	\$1.00	\$600.00	\$0.01	\$6.00	\$0.01	\$6.00	\$0.01	\$6.00	\$0.01	\$6.00	\$0.01	\$6.00
12	750	TON	Hot Mix Asphalt, 9.5M64, 2" Thick	\$94.33	\$70,747.50	\$92.00	\$69,000.00	\$110.00	\$82,500.00	\$91.74	\$68,805.00	\$94.38	\$70,785.00	\$86.00	\$64,500.00
13	50	L.F.	9"x 18" Concrete Curb, (If and Where Directed)	\$50.00	\$2,500.00	\$95.00	\$4,750.00	\$50.00	\$2,500.00	\$63.52	\$3,176.00	\$45.00	\$2,250.00	\$55.00	\$2,750.00
14	500	L.F.	Granite Curb (If and Where Directed)	\$55.00	\$27,500.00	\$45.00	\$22,500.00	\$50.00	\$25,000.00	\$51.00	\$25,500.00	\$45.00	\$22,500.00	\$55.00	\$27,500.00
15	150	S.Y.	Concrete Sidewalk 4" Thick (If and Where Directed)	\$92.00	\$13,800.00	\$125.00	\$18,750.00	\$100.00	\$15,000.00	\$110.56	\$16,584.00	\$90.20	\$13,530.00	\$125.00	\$18,750.00
16	40	S.Y.	Concrete Sidewalk 6" Thick (If and Where Directed)	\$100.00	\$4,000.00	\$125.00	\$5,000.00	\$100.00	\$4,000.00	\$127.05	\$5,082.00	\$100.00	\$4,000.00	\$0.01	\$0.40
17	40	S.Y.	Concrete Driveway Apron, 6" Thick (If and Where Directed)	\$100.00	\$4,000.00	\$125.00	\$5,000.00	\$100.00	\$4,000.00	\$128.01	\$5,120.40	\$100.00	\$4,000.00	\$0.01	\$0.40
18	0	S.Y.	Detectable Warning Surface	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
19	1	L.F.	Reset existing Manhole Casting	\$500.00	\$500.00	\$400.00	\$400.00	\$500.00	\$500.00	\$592.76	\$592.76	\$0.01	\$0.01	\$0.01	\$0.01
20	500	L.F.	Traffic Striping, (Thermo Plastic 30 MILS) 4" Wide	\$0.75	\$375.00	\$0.85	\$425.00	\$0.83	\$415.00	\$0.79	\$395.00	\$0.83	\$415.00	\$0.85	\$425.00
21	75	S.F.	Traffic Striping, (Thermo Plastic 90 MILS) 24" Wide	\$4.50	\$337.50	\$5.00	\$375.00	\$4.95	\$371.25	\$4.73	\$354.75	\$4.95	\$371.25	\$5.00	\$375.00
22	1,150	S.F.	Traffic Markings, (Thermo Plastic 90 MILS)	\$2.25	\$2,587.50	\$2.50	\$2,875.00	\$2.48	\$2,852.00	\$2.36	\$2,714.00	\$2.48	\$2,852.00	\$2.50	\$2,875.00
23	12	Unit	Curb Piece, Type N-ECO	\$380.00	\$4,560.00	\$345.00	\$4,140.00	\$400.00	\$4,800.00	\$410.31	\$4,923.72	\$375.00	\$4,500.00	\$350.00	\$4,200.00
24	12	Unit	Bicycle Safe Grates	\$380.00	\$4,560.00	\$365.00	\$4,380.00	\$400.00	\$4,800.00	\$360.83	\$4,329.96	\$375.00	\$4,500.00	\$370.00	\$4,440.00
			Sum of Bid		\$180,833.92		\$186,007.25		\$199,395.06		\$173,634.43		\$176,621.76		\$170,134.57

					1		2		3		4		5		6
	R	ECEIVE	ED: Wednesday July 12, 2023 @ 10:30 A.M.	Stavola Cont	racting Co., Inc	DeSantis Co	onstruction Inc	Black Rock E	nterprises, LLC	Top Line Con	struction Corp.	Americ	an Asphalt	Stilo Exca	avation Inc.
		2023-02	CAPITAL ROADWAY RESURFACING PROJECT		rift Road	P.O. E	3ox 6030	1316 Englis	shtown Road	22 Fift	h Street	818 Su	ımmer Ave	2907 So. (	Clinton Ave
			John Hancock Avenue	Tinton Fal	ls, NJ 07724	Somerset, NJ 08875		Old Bridge, NJ 08857		Somerville	e, NJ 08876	Newark	c, NJ 07104	South Plainf	field, NJ 07080
А	Bid Bond	or Certif	ied Check	1	/es		Yes		Yes		'es		Yes	Υ	res es
В	Consent	of Surety			/es	,	Yes	Y	'es	Yes			Yes	Y	res
С	Bidder's	Qualificat	ions	1	Yes		Yes	Y	'es	Y	'es	Yes		Y	res .
D	Equal Em	nploymen	t Affirmative Action	1	/es	,	Yes	Υ	'es	Υ	'es	Yes		Y	res .
Е	Non-Collusion Affidavit		1	/es	,	Yes	Υ	'es	Y	'es		Yes	Y	res .	
F	Stockholo	der Disclo	osure	١	/es	,	Yes	Y	'es	Y	'es		Yes	Y	res .
	APPRO	XIMATE													
ITEM NO.	QUAN	TITIES	DESCRIPTION OF MATERIALS, GRADES, ETC.	UNIT PRICES	AMOUNT	UNIT PRICES	AMOUNT	TOTALS	AMOUNT	UNIT PRICES	AMOUNT	UNIT PRICES	AMOUNT	UNIT PRICES	AMOUNT
														av E	
			John Hancock Avenue												
1	1	L.S.	Traffic Control	\$1,052.42	\$1,052.42	\$3,500.00	\$3,500.00	\$7,500.00	\$7,500.00	\$4,698.09	\$4,698.09	\$1,000.00	\$1,000.00	\$0.01	\$0.01
2	50	H.R.	Traffic Director, Flaggers	\$98.00	\$4,900.00	\$98.00	\$4,900.00	\$98.00	\$4,900.00	\$98.00	\$4,900.00	\$98.00	\$4,900.00	\$98.00	\$4,900.00
3	1	L.S.	Fuel Price Adjustment	\$700.00	\$700.00	\$700.00	\$700.00	\$700.00	\$700.00	\$700.00	\$700.00	\$700.00	\$700.00	\$700.00	\$700.00
4	1	L.S.	Asphalt Price Adjustment	\$700.00	\$700.00	\$700.00	\$700.00	\$700.00	\$700.00	\$700.00	\$700.00	\$700.00	\$700.00	\$700.00	\$700.00
5	2,300	S.Y.	HMA Milling 3" or Less	\$4.61	\$10,603.00	\$3.00	\$6,900.00	\$7.00	\$16,100.00	\$5.86	\$13,478.00	\$3.98	\$9,154.00	\$18.00	\$41,400.00
6	20	C.Y.	Unclassified Excavation (If and Where Directed)	\$185.52	\$3,710.40	\$0.01	\$0.20	\$0.01	\$0.20	\$58.85	\$1,177.00	\$1.00	\$20.00	\$0.01	\$0.20
7	230	S.Y.	Dense Graded Aggregate, 4" Thick (If and Where Directed)	\$0.01	\$2.30	\$0.01	\$2.30	\$0.01	\$2.30	\$9.94	\$2,286.20	\$0.01	\$2.30	\$0.01	\$2.30
8	200	S.Y.	Crack Sealer, 1/4" to 1/2" Width (If and Where Directed)	\$3.45	\$690.00	\$2.00	\$400.00	\$1.00	\$200.00	\$0.01	\$2.00	\$1.50	\$300.00	\$1.70	\$340.00
9	60	L.F.	Hot Mix Asphalt, 19M64, 4" Thick (If and Where Directed)	\$1.00	\$60.00	\$78.00	\$4,680.00	\$1.00	\$60.00	\$0.01	\$0.60	\$0.01	\$0.60	\$0.01	\$0.60
10	0	L.F.	Hot Mix Asphalt Driveway repair, 3" Thick (if and Where Directed)	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
11	230	Gal	Tack Coat	\$0.01	\$2.30	\$0.01	\$2.30	\$5.00	\$1,150.00	\$0.01	\$2.30	\$0.01	\$2.30	\$0.01	\$2.30
12	550	TON	Hot Mix Asphalt, 9.5M64, 2" Thick	\$85.55	\$47,052.50	\$92.00	\$50,600.00	\$115.00	\$63,250.00	\$70.00	\$38,500.00	\$94.38	\$51,909.00	\$0.01	\$5.50
13	0	TON	9"x 18" Concrete Curb, (If and Where Directed)	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
14	150	TON	Granite Curb (If and Where Directed)	\$55.00	\$8,250.00	\$85.00	\$12,750.00	\$50.00	\$7,500.00	\$47.16	\$7,074.00	\$45.00	\$6,750.00	\$60.00	\$9,000.00
15	20	L.F.	Concrete Sidewalk 4" Thick (If and Where Directed)	\$92.00	\$1,840.00	\$125.00	\$2,500.00	\$100.00	\$2,000.00	\$110.56	\$2,211.20	\$90.20	\$1,804.00	\$140.00	\$2,800.00
16	15	L.F.	Concrete Sidewalk 6" Thick (If and Where Directed)	\$100.00	\$1,500.00	\$125.00	\$1,875.00	\$100.00	\$1,500.00	\$127.05	\$1,905.75	\$100.00	\$1,500.00	\$0.01	\$0.15
17	20	S.Y.	Concrete Driveway Apron, 6" Thick (If and Where Directed)	\$100.00	\$2,000.00	\$125.00	\$2,500.00	\$100.00	\$2,000.00	\$128.01	\$2,560.20	\$100.00	\$2,000.00	\$0.01	\$0.20
18	0	S.Y.	Detectable Warning Surface	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
19	0	S.Y.	Reset existing Manhole Casting	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
20	200	S.Y.	Traffic Striping, (Thermo Plastic 30 MILS) 4" Wide	\$0.75	\$150.00	\$1.00	\$200.00	\$0.83	\$166.00	\$0.79	\$158.00	\$0.83	\$166.00	\$0.85	\$170.00
21	30	L.F.	Traffic Striping, (Thermo Plastic 90 MILS) 24" Wide	\$4.50	\$135.00	\$5.00	\$150.00	\$4.95	\$148.50	\$4.73	\$141.90	\$4.95	\$148.50	\$5.00	\$150.00
22	450	L.F.	Traffic Markings, (Thermo Plastic 90 MILS)	\$2.25	\$1,012.50	\$2.50	\$1,125.00	\$2.48	\$1,116.00	\$2.36	\$1,062.00	\$2.48	\$1,116.00	\$2.50	\$1,125.00
23	4	S.F.	Curb Piece, Type N-ECO	\$380.00	\$1,520.00	\$345.00	\$1,380.00	\$400.00	\$1,600.00	\$410.31	\$1,641.24	\$375.00	\$1,500.00	\$350.00	\$1,400.00
24	4	S.Y.	Bicycle Safe Grates	\$380.00	\$1,520.00	\$375.00	\$1,500.00	\$400.00	\$1,600.00	\$360.83	\$1,443.32	\$375.00	\$1,500.00	\$370.00	\$1,480.00
			Sum of Bid		\$87,400.42		\$96,364.80		\$112,193.00		\$84,641.80		\$85,172.70		\$64,176.26

					1		2		3		4		5		6
		RECEI	VED: Wednesday July 12, 2023 @ 10:30 A.M.	Stavola Contr	acting Co., Inc	DeSantis Co	onstruction Inc	Black Rock E	nterprises, LLC	Top Line Con	struction Corp.		n Asphalt		
			02 CAPITAL ROADWAY RESURFACING PROJECT		ift Road		3ox 6030		shtown Road		h Street		nmer Ave		
			Liberty Trail		s, NJ 07724		Somerset, NJ 08875		e, NJ 08857		e, NJ 08876		NJ 07104		
А	Bid Bond	d or Certi	fied Check	Y	es	Yes		· Y	'es	Y	es	Y	'es		
В	Consent	of Suret	1	Yes			Yes	Yes		Yes			'es		
С	Bidder's	Qualifica	ations	Yes			Yes		'es		es	Yes			
D	Equal En	mployme	nt Affirmative Action	Y	es	,	Yes		'es		es	Yes			
Е	Non-Coll	lusion Af	iidavit	Y	es	,	Yes	Y	'es	Y	es		'es		
F	F Stockholder Disclosure			Y	es	,	Yes	Y	'es	Y	es	Yes			
	APPRO	OXIMATE													
ITEM NO.	QUAN	ITITIES	DESCRIPTION OF MATERIALS, GRADES, ETC.	UNIT PRICES	AMOUNT	UNIT PRICES	AMOUNT	TOTALS	AMOUNT	UNIT PRICES	AMOUNT	UNIT PRICES	AMOUNT	UNIT PRICES	AMOUNT
			Liberty Trail												
1	1	L.S.	Traffic Control	\$1,052.42	\$1,052.42	\$2,000.00	\$2,000.00	\$5,000.00	\$5,000.00	\$4,698.09	\$4,698.09	\$800.00	\$800.00	\$0.01	\$0.01
2	20	H.R.	Traffic Director, Flaggers	\$98.00	\$1,960.00	\$98.00	\$1,960.00	\$98.00	\$1,960.00	\$98.00	\$1,960.00	\$98.00	\$1,960.00	\$98.00	\$1,960.00
3	1	L.S.	Fuel Price Adjustment	\$250.00	\$250.00	\$250.00	\$250.00	\$250.00	\$250.00	\$250.00	\$250.00	\$250.00	\$250.00	\$250.00	\$250.00
4	1	L.S.	Asphalt Price Adjustment	\$250.00	\$250.00	\$250.00	\$250.00	\$250.00	\$250.00	\$250.00	\$250.00	\$250.00	\$250.00	\$250.00	\$250.00
5	1,450	S.Y.	HMA Milling 3" or Less	\$6.98	\$10,121.00	\$3.00	\$4,350.00	\$11.00	\$15,950.00	\$2.94	\$4,263.00	\$3.98	\$5,771.00	\$5.25	\$7,612.50
6	10	C.Y.	Unclassified Excavation (If and Where Directed)	\$308.15	\$3,081.50	\$0.01	\$0.10	\$0.01	\$0.10	\$0.01	\$0.10	\$0.01	\$0.10	\$0.01	\$0.10
7	150	S.Y.	Dense Graded Aggregate, 4" Thick (If and Where Directed)	\$0.01	\$1.50	\$0.01	\$1.50	\$0.01	\$1.50	\$0.01	\$1.50	\$0.01	\$1.50	\$0.01	\$1.50
8	200	S.Y.	Crack Sealer, 1/4" to 1/2" Width (If and Where Directed)	\$3.45	\$690.00	\$2.00	\$400.00	\$1.00	\$200.00	\$0.01	\$2.00	\$1.50	\$300.00	\$0.01	\$2.00
9	40	L.F.	Hot Mix Asphalt, 19M64, 4" Thick (If and Where Directed)	\$1.00	\$40.00	\$78.00	\$3,120.00	\$0.01	\$0.40	\$99.61	\$3,984.40	\$0.01	\$0.40	\$0.01	\$0.40
10	0	L.F.	Hot Mix Asphalt Driveway repair, 3" Thick (if and Where Directed)	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
11	145	Gal	Tack Coat	\$0.01	\$1.45	\$0.01	\$1.45	\$0.01	\$1.45	\$0.01	\$1.45	\$0.01	\$1.45	\$0.01	\$1.45
12	190	TON	Hot Mix Asphalt, 9.5M64, 2" Thick	\$112.07	\$21,293.30	\$92.00	\$17,480.00	\$200.00	\$38,000.00	\$91.87	\$17,455.30	\$94.38	\$17,932.20	\$86.00	\$16,340.00
13	0	TON	9"x 18" Concrete Curb, (If and Where Directed)	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
14	100	TON	Granite Curb (If and Where Directed)	\$55.00	\$5,500.00	\$75.00	\$7,500.00	\$50.00	\$5,000.00	\$47.16	\$4,716.00	\$45.00	\$4,500.00	\$60.00	\$6,000.00
15	20	L.F.	Concrete Sidewalk 4" Thick (If and Where Directed)	\$92.00	\$1,840.00	\$125.00	\$2,500.00	\$100.00	\$2,000.00	\$110.56	\$2,211.20	\$90.20	\$1,804.00	\$140.00	\$2,800.00
16	0	L.F.	Concrete Sidewalk 6" Thick (If and Where Directed)	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
17	0	S.Y.	Concrete Driveway Apron, 6" Thick (If and Where Directed)	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
18	0	S.Y.	Detectable Warning Surface	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
19	0	S.Y.	Reset existing Manhole Casting	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
20	100	S.Y.	Traffic Striping, (Thermo Plastic 30 MILS) 4" Wide	\$0.75	\$75.00	\$1.00	\$100.00	\$0.83	\$83.00	\$0.79	\$79.00	\$0.83	\$83.00	\$0.85	\$85.00
21	15	L.F.	Traffic Striping, (Thermo Plastic 90 MILS) 24" Wide	\$4.50	\$67.50	\$5.00	\$75.00	\$4.95	\$74.25	\$4.73	\$70.95	\$4.95	\$74.25	\$5.00	\$75.00
22	0	L.F.	Traffic Markings, (Thermo Plastic 90 MILS)	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
23	0	S.F.	Curb Piece, Type N-ECO	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
24	0	S.Y.	Bicycle Safe Grates	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
			Sum of Bid		\$46,223.67		\$39,988.05		\$68,770.70		\$39,942.99		\$33,727.90		\$35,377.96

					1		2		3		4		5		6
	R	RECEIVI	ED: Wednesday July 12, 2023 @ 10:30 A.M.	Stavola Cont	racting Co., Inc	DeSantis Co	onstruction Inc	Black Rock E	nterprises, LLC	Top Line Con	struction Corp.	America	ın Asphalt	Stilo Excavation Inc	
		2023-02	2 CAPITAL ROADWAY RESURFACING PROJECT	175 Dr	rift Road	P.O. E	3ox 6030	1316 Englis	htown Road	22 Fift	h Street	818 Sui	mmer Ave	2907 So.	Clinton Ave
			Fairfield Lane Sect 1	Tinton Falls, NJ 07724		Somerse	Somerset, NJ 08875		Old Bridge, NJ 08857		e, NJ 08876	Newark	, NJ 07104	South Plaint	field, NJ 07080
Α	Bid Bond	or Certif	fied Check	Y	′es	,	Yes		Yes		'es	,	res	١	res .
В	Consent	of Surety	1	Y	Yes		res	Y	'es	Yes		,	res	1	res
С	Bidder's	Qualifica	tions	Y	Yes		Yes	Υ	es	Yes		Yes		\ \	res es
D	Equal En	nploymer	nt Affirmative Action	Y	'es	,	res	Υ	es	Υ	'es	Yes		1	res es
E	Non-Coll	usion Aff	idavit	Y	es es	,	Yes	Y	'es	Y	'es	,	res	· ·	res .
F	F Stockholder Disclosure		Y	res .	,	res .	Υ	es	Υ	'es	,	res	Υ	res es	
	APPROXIMATE														
ITEM NO.	QUAN	ITITIES	DESCRIPTION OF MATERIALS, GRADES, ETC.	UNIT PRICES	AMOUNT	UNIT PRICES	AMOUNT	TOTALS	AMOUNT	UNIT PRICES	AMOUNT	UNIT PRICES	AMOUNT	UNIT PRICES	AMOUNT
			Fairfield Lane Sect 1												
1	1	L.S.	Traffic Control	\$1,052.42	\$1,052.42	\$10,700.00	\$10,700.00	\$15,000.00	\$15,000.00	\$4,698.09	\$4,698.09	\$10,000.00	\$10,000.00	\$0.01	\$0.01
2	150	H.R.	Traffic Director, Flaggers	\$98.00	\$14,700.00	\$98.00	\$14,700.00	\$98.00	\$14,700.00	\$98.00	\$14,700.00	\$98.00	\$14,700.00	\$98.00	\$14,700.00
3	1	L.S.	Fuel Price Adjustment	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
4	1	L.S.	Asphalt Price Adjustment	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
5	17,000	S.Y.	HMA Milling 3" or Less	\$2.60	\$44,200.00	\$2.28	\$38,760.00	\$3.50	\$59,500.00	\$5.50	\$93,500.00	\$3.98	\$67,660.00	\$5.25	\$89,250.00
6	75	C.Y.	Unclassified Excavation (If and Where Directed)	\$185.52	\$13,914.00	\$0.01	\$0.75	\$0.01	\$0.75	\$0.01	\$0.75	\$0.01	\$0.75	\$0.01	\$0.75
7	1,700	S.Y.	Dense Graded Aggregate, 4" Thick (If and Where Directed)	\$0.01	\$17.00	\$0.01	\$17.00	\$0.01	\$17.00	\$0.01	\$17.00	\$0.01	\$17.00	\$0.01	\$17.00
8	600	S.Y.	Crack Sealer, 1/4" to 1/2" Width (If and Where Directed)	\$1.24	\$744.00	\$2.00	\$1,200.00	\$1.00	\$600.00	\$0.01	\$6.00	\$1.50	\$900.00	\$0.01	\$6.00
9	400	L.F.	Hot Mix Asphalt, 19M64, 4" Thick (If and Where Directed)	\$1.00	\$400.00	\$78.00	\$31,200.00	\$0.01	\$4.00	\$0.01	\$4.00	\$0.01	\$4.00	\$0.01	\$4.00
10	0	L.F.	Hot Mix Asphalt Driveway repair, 3" Thick (if and Where Directed)	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
11	1,700	Gal	Tack Coat	\$0.01	\$17.00	\$0.01	\$17.00	\$0.01	\$17.00	\$0.01	\$17.00	\$0.01	\$17.00	\$0.01	\$17.00
12	2,100	TON	Hot Mix Asphalt, 9.5M64, 2" Thick	\$84.11	\$176,631.00	\$92.00	\$193,200.00	\$100.00	\$210,000.00	\$70.00	\$147,000.00	\$94.38	\$198,198.00	\$86.00	\$180,600.00
13	100	TON	9"x 18" Concrete Curb, (If and Where Directed)	\$50.00	\$5,000.00	\$85.00	\$8,500.00	\$65.00	\$6,500.00	\$91.94	\$9,194.00	\$45.00	\$4,500.00	\$60.00	\$6,000.00
14	100	TON	Granite Curb (If and Where Directed)	\$55.00	\$5,500.00	\$85.00	\$8,500.00	\$65.00	\$6,500.00	\$53.91	\$5,391.00	\$45.00	\$4,500.00	\$60.00	\$6,000.00
15	125	L.F.	Concrete Sidewalk 4" Thick (If and Where Directed)	\$92.00	\$11,500.00	\$125.00	\$15,625.00	\$100.00	\$12,500.00	\$133.51	\$16,688.75	\$90.20	\$11,275.00	\$125.00	\$15,625.00
16	30	L.F.	Concrete Sidewalk 6" Thick (If and Where Directed)	\$100.00	\$3,000.00	\$125.00	\$3,750.00	\$100.00	\$3,000.00	\$115.50	\$3,465.00	\$100.00	\$3,000.00	\$0.01	\$0.30
17	30	S.Y.	Concrete Driveway Apron, 6" Thick (If and Where Directed)	\$100.00	\$3,000.00	\$125.00	\$3,750.00	\$50.00	\$1,500.00	\$116.46	\$3,493.80	\$100.00	\$3,000.00	\$0.01	\$0.30
18	10	S.Y.	Detectable Warning Surface	\$195.00	\$1,950.00	\$300.00	\$3,000.00	\$675.00	\$6,750.00	\$132.01	\$1,320.10	\$250.00	\$2,500.00	\$375.00	\$3,750.00
19	3	S.Y.	Reset existing Manhole Casting	\$500.00	\$1,500.00	\$450.00	\$1,350.00	\$300.00	\$900.00	\$592.76	\$1,778.28	\$0.01	\$0.03	\$0.01	\$0.03
20	100	S.Y.	Traffic Striping, (Thermo Plastic 30 MILS) 4" Wide	\$0.75	\$75.00	\$1.00	\$100.00	\$0.83	\$83.00	\$0.79	\$79.00	\$0.83	\$83.00	\$0.85	\$85.00
21	15	L.F.	Traffic Striping, (Thermo Plastic 90 MILS) 24" Wide	\$4.50	\$67.50	\$5.00	\$75.00	\$4.95	\$74.25	\$4.73	\$70.95	\$4.95	\$74.25	\$5.00	\$75.00
22	650	L.F.	Traffic Markings, (Thermo Plastic 90 MILS)	\$2.25	\$1,462.50	\$2.50	\$1,625.00	\$2.48	\$1,612.00	\$2.36	\$1,534.00	\$2.48	\$1,612.00	\$2.50	\$1,625.00
23	41	S.F.	Curb Piece, Type N-ECO	\$380.00	\$15,580.00	\$350.00	\$14,350.00	\$350.00	\$14,350.00	\$410.31	\$16,822.71	\$375.00	\$15,375.00	\$300.00	\$12,300.00
24	41	S.Y.	Bicycle Safe Grates	\$380.00	\$15,580.00	\$375.00	\$15,375.00	\$350.00	\$14,350.00	\$360.83	\$14,794.03	\$375.00	\$15,375.00	\$320.00	\$13,120.00
			Sum of Bid		\$319,890.42		\$369,794.75		\$371,958.00		\$338,574.46		\$356,791.03		\$347,175.39

					1		2		3		1		j		6
	R	RECEIVE	ED: Wednesday July 12, 2023 @ 10:30 A.M.	Stavola Cont	racting Co., Inc	DeSantis Co	onstruction Inc	Black Rock E	nterprises, LLC	Top Line Cons	struction Corp.	Americar	Asphalt	Stilo Excavation Inc.	
		2023-02	2 CAPITAL ROADWAY RESURFACING PROJECT	175 D	rift Road	P.O. Box 6030			htown Road		n Street	818 Sum	mer Ave		Clinton Ave
			Slater Court	Tinton Fal	ls, NJ 07724	Somerset, NJ 08875		Old Bridge, NJ 08857			e, NJ 08876	Newark,			ield, NJ 07080
Α	Bid Bond	d or Certif	fied Check	,	/es	,	Yes	Y	'es	Y	es	Y	es	Y	'es
В	Consent	of Surety		,	/es	,	Yes	Υ	'es	Y	es	Y	es		'es
С	Bidder's	Qualificat	tions	Yes		,	Yes	Y	'es	Yes		Y	es	Y	'es
D	Equal En	nploymer	nt Affirmative Action	,	/es	,	Yes	Y	'es	Y	es	Yes		Y	'es
Е	Non-Coll	usion Affi	idavit	1	/es	,	Yes	Y	'es	Y	es	Y	es	Y	'es
F	F Stockholder Disclosure		,	res .	,	Yes	Υ	'es	Y	es	Y	es	Y	'es	
	APPROXIMATE														
ITEM NO.	QUAN	ITITIES	DESCRIPTION OF MATERIALS, GRADES, ETC.	UNIT PRICES	AMOUNT	UNIT PRICES	AMOUNT	UNIT PRICES	AMOUNT	UNIT PRICES	AMOUNT	UNIT PRICES	AMOUNT	UNIT PRICES	AMOUNT
			Slater Court												
1	1	L.S.	Traffic Control	\$1,052.42	\$1,052.42	\$4,500.00	\$4,500.00	\$15,000.00	\$15,000.00	\$4,698.09	\$4,698.09	\$6,000.00	\$6,000.00	\$0.01	\$0.01
2	120	H.R.	Traffic Director, Flaggers	\$98.00	\$11,760.00	\$98.00	\$11,760.00	\$98.00	\$11,760.00	\$98.00	\$11,760.00	\$98.00	\$11,760.00	\$98.00	\$11,760.00
3	1	L.S.	Fuel Price Adjustment	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
4	1	L.S.	Asphalt Price Adjustment	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
5	10,200	S.Y.	HMA Milling 3" or Less	\$2.93	\$29,886.00	\$2.28	\$23,256.00	\$4.00	\$40,800.00	\$3.06	\$31,212.00	\$3.98	\$40,596.00	\$4.50	\$45,900.00
6	50	C.Y.	Unclassified Excavation (If and Where Directed)	\$185.52	\$9,276.00	\$0.01	\$0.50	\$0.01	\$0.50	\$0.01	\$0.50	\$0.01	\$0.50	\$0.01	\$0.50
7	1,020	S.Y.	Dense Graded Aggregate, 4" Thick (If and Where Directed)	\$0.01	\$10.20	\$0.01	\$10.20	\$0.01	\$10.20	\$0.01	\$10.20	\$0.01	\$10.20	\$0.01	\$10.20
8	300	S.Y.	Crack Sealer, 1/4" to 1/2" Width (If and Where Directed)	\$2.30	\$690.00	\$2.00	\$600.00	\$1.00	\$300.00	\$0.01	\$3.00	\$1.50	\$450.00	\$0.01	\$3.00
9	250	L.F.	Hot Mix Asphalt, 19M64, 4" Thick (If and Where Directed)	\$1.00	\$250.00	\$78.00	\$19,500.00	\$0.01	\$2.50	\$0.01	\$2.50	\$20.00	\$5,000.00	\$0.01	\$2.50
10	0	L.F.	Hot Mix Asphalt Driveway repair, 3" Thick (if and Where Directed)	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
11	1,020	Gal	Tack Coat	\$0.01	\$10.20	\$0.01	\$10.20	\$0.01	\$10.20	\$0.01	\$10.20	\$0.01	\$10.20	\$0.01	\$10.20
12	1,250	TON	Hot Mix Asphalt, 9.5M64, 2" Thick	\$83.92	\$104,900.00	\$92.00	\$115,000.00	\$100.00	\$125,000.00	\$92.13	\$115,162.50	\$94.38	\$117,975.00	\$86.00	\$107,500.00
13	10	TON	9"x 18" Concrete Curb, (If and Where Directed)	\$50.00	\$500.00	\$85.00	\$850.00	\$50.00	\$500.00	\$91.94	\$919.40	\$45.00	\$450.00	\$60.00	\$600.00
14	100	TON	Granite Curb (If and Where Directed)	\$55.00	\$5,500.00	\$85.00	\$8,500.00	\$50.00	\$5,000.00	\$53.91	\$5,391.00	\$45.00	\$4,500.00	\$60.00	\$6,000.00
15	50	L.F.	Concrete Sidewalk 4" Thick (If and Where Directed)	\$92.00	\$4,600.00	\$125.00	\$6,250.00	\$100.00	\$5,000.00	\$133.51	\$6,675.50	\$90.20	\$4,510.00	\$140.00	\$7,000.00
16	0	L.F.	Concrete Sidewalk 6" Thick (If and Where Directed)	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
17	0	S.Y.	Concrete Driveway Apron, 6" Thick (If and Where Directed)	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
18	1	S.Y.	Detectable Warning Surface	\$195.00	\$195.00	\$325.00	\$325.00	\$2,500.00	\$2,500.00	\$132.01	\$132.01	\$250.00	\$250.00	\$375.00	\$375.00
19	2	S.Y.	Reset existing Manhole Casting	\$500.00	\$1,000.00	\$400.00	\$800.00	\$400.00	\$800.00	\$592.76	\$1,185.52	\$0.01	\$0.02	\$0.01	\$0.02
20	100	S.Y.	Traffic Striping, (Thermo Plastic 30 MILS) 4" Wide	\$0.75	\$75.00	\$1.00	\$100.00	\$0.83	\$83.00	\$0.79	\$79.00	\$0.83	\$83.00	\$0.85	\$85.00
21	15	L.F.	Traffic Striping, (Thermo Plastic 90 MILS) 24" Wide	\$4.50	\$67.50	\$5.00	\$75.00	\$4.95	\$74.25	\$4.73	\$70.95	\$4.95	\$74.25	\$5.00	\$75.00
22	128	L.F.	Traffic Markings, (Thermo Plastic 90 MILS)	\$2.25	\$288.00	\$2.50	\$320.00	\$2.48	\$317.44	\$2.36	\$302.08	\$2.48	\$317.44	\$2.50	\$320.00
23	22	S.F.	Curb Piece, Type N-ECO	\$380.00	\$8,360.00	\$350.00	\$7,700.00	\$400.00	\$8,800.00	\$410.31	\$9,026.82	\$375.00	\$8,250.00	\$350.00	\$7,700.00
24	4	S.Y.	Bicycle Safe Grates	\$380.00	\$1,520.00	\$375.00	\$1,500.00	\$400.00	\$1,600.00	\$360.83	\$1,443.32	\$375.00	\$1,500.00	\$370.00	\$1,480.00
			Sum of Bid		\$182,940.32		\$204,056.90		\$220,558.09		\$191,084.59		\$204,736.61		\$191,821.43

					1		2		3	4	1		5		3
	R	RECEIVE	ED: Wednesday July 12, 2023 @ 10:30 A.M.	Stavola Conti	acting Co., Inc	DeSantis Co	nstruction Inc	Black Rock Er	nterprises, LLC	Top Line Cons	struction Corp.	America	n Asphalt	Stilo Exca	vation Inc.
		2023-02	CAPITAL ROADWAY RESURFACING PROJECT	175 Dr	ift Road	P.O. B	P.O. Box 6030		htown Road	22 Fiftl	h Street		nmer Ave	2907 So. 0	Clinton Ave
			Radnor Court	Tinton Falls, NJ 07724		Somerse	Somerset, NJ 08875		Old Bridge, NJ 08857		e, NJ 08876	Newark,	NJ 07104	South Plainf	eld, NJ 07080
Α	Bid Bond	d or Certifi	ied Check	Y	es	Y	'es	Yes		Υ	es	Υ	es	Y	es
В	Consent	of Surety		Y	Yes		es es	Υ	es	Yes		Υ	es	Y	es
С	Bidder's	Qualificat	ions	Y	es	١	es es	Y	es	Yes		Yes		Y	es
D	Equal Em	nploymen	t Affirmative Action	Y	'es	١	'es	Y	es	Y	es	Yes		Υ	es
Е	E Non-Collusion Affidavit			Y	'es	``	'es	Y	es	Υ	es	Y	es	Y	es
F	Stockholo	der Disclo	osure	Y	es	١	'es	Y	es	Υ	es	Υ	es	Y	es
	APPRO	DXIMATE													
ITEM NO.		ITITIES	DESCRIPTION OF MATERIALS, GRADES, ETC.	UNIT PRICES	AMOUNT	UNIT PRICES	AMOUNT	TOATLS	AMOUNT	UNIT PRICES	AMOUNT	UNIT PRICES	AMOUNT	UNIT PRICES	AMOUNT
			Radnor Court												
1	1	L.S.	Traffic Control	\$1,052.42	\$1,052.42	\$1,700.00	\$1,700.00	\$5,000.00	\$5,000.00	\$4,698.09	\$4,698.09	\$800.00	\$800.00	\$0.01	\$0.01
2	50	H.R.	Traffic Director, Flaggers	\$98.00	\$4,900.00	\$98.00	\$4,900.00	\$98.00	\$4,900.00	\$98.00	\$4,900.00	\$98.00	\$4,900.00	\$98.00	\$4,900.00
3	1	L.S.	Fuel Price Adjustment	\$700.00	\$700.00	\$700.00	\$700.00	\$700.00	\$700.00	\$700.00	\$700.00	\$700.00	\$700.00	\$700.00	\$700.00
4	1	L.S.	Asphalt Price Adjustment	\$700.00	\$700.00	\$700.00	\$700.00	\$700.00	\$700.00	\$700.00	\$700.00	\$700.00	\$700.00	\$700.00	\$700.00
5	1,900	S.Y.	HMA Milling 3" or Less	\$5.58	\$10,602.00	\$2.28	\$4,332.00	\$9.00	\$17,100.00	\$3.24	\$6,156.00	\$3.98	\$7,562.00	\$5.25	\$9,975.00
6	10	C.Y.	Unclassified Excavation (If and Where Directed)	\$185.52	\$1,855.20	\$0.01	\$0.10	\$0.01	\$0.10	\$0.01	\$0.10	\$0.01	\$0.10	\$0.01	\$0.10
7	200	S.Y.	Dense Graded Aggregate, 4" Thick (If and Where Directed)	\$0.01	\$2.00	\$0.01	\$2.00	\$0.01	\$2.00	\$0.01	\$2.00	\$0.01	\$2.00	\$0.01	\$2.00
8	200	S.Y.	Crack Sealer, 1/4" to 1/2" Width (If and Where Directed)	\$3.45	\$690.00	\$2.00	\$400.00	\$1.00	\$200.00	\$3.65	\$730.00	\$1.50	\$300.00	\$0.01	\$2.00
9	50	L.F.	Hot Mix Asphalt, 19M64, 4" Thick (If and Where Directed)	\$1.00	\$50.00	\$78.00	\$3,900.00	\$0.01	\$0.50	\$0.01	\$0.50	\$0.01	\$0.50	\$0.01	\$0.50
10	30	L.F.	Hot Mix Asphalt Driveway repair, 3" Thick (if and Where Directed)	\$44.25	\$1,327.50	\$45.00	\$1,350.00	\$50.00	\$1,500.00	\$44.86	\$1,345.80	\$35.00	\$1,050.00	\$0.01	\$0.30
11	190	Gal	Tack Coat	\$0.01	\$1.90	\$0.01	\$1.90	\$0.01	\$1.90	\$0.01	\$1.90	\$0.01	\$1.90	\$0.01	\$1.90
12	240	TON	Hot Mix Asphalt, 9.5M64, 2" Thick	\$103.94	\$24,945.60	\$92.00	\$22,080.00	\$200.00	\$48,000.00	\$94.35	\$22,644.00	\$94.38	\$22,651.20	\$86.00	\$20,640.00
13	5	TON	9"x 18" Concrete Curb, (If and Where Directed)	\$50.00	\$250.00	\$100.00	\$500.00	\$75.00	\$375.00	\$91.94	\$459.70	\$45.00	\$225.00	\$60.00	\$300.00
14	5	TON	Granite Curb (If and Where Directed)	\$55.00	\$275.00	\$100.00	\$500.00	\$75.00	\$375.00	\$53.91	\$269.55	\$45.00	\$225.00	\$60.00	\$300.00
15	20	L.F.	Concrete Sidewalk 4" Thick (If and Where Directed)	\$92.00	\$1,840.00	\$125.00	\$2,500.00	\$100.00	\$2,000.00	\$133.51	\$2,670.20	\$90.20	\$1,804.00	\$140.00	\$2,800.00
16	0	L.F.	Concrete Sidewalk 6" Thick (If and Where Directed)	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
17	0	S.Y.	Concrete Driveway Apron, 6" Thick (If and Where Directed)	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
18	1	S.Y.	Detectable Warning Surface	\$195.00	\$195.00	\$325.00	\$325.00	\$2,500.00	\$2,500.00	\$132.01	\$132.01	\$250.00	\$250.00	\$375.00	\$375.00
19	0	S.Y.	Reset existing Manhole Casting	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
20	100	S.Y.	Traffic Striping, (Thermo Plastic 30 MILS) 4" Wide	\$0.75	\$75.00	\$1.00	\$100.00	\$0.83	\$83.00	\$0.79	\$79.00	\$0.83	\$83.00	\$0.85	\$85.00
21	15	L.F.	Traffic Striping, (Thermo Plastic 90 MILS) 24" Wide	\$4.50	\$67.50	\$5.00	\$75.00	\$4.95	\$74.25	\$4.73	\$70.95	\$4.95	\$74.25	\$5.00	\$75.00
22	130	L.F.	Traffic Markings, (Thermo Plastic 90 MILS)	\$2.25	\$292.50	\$2.50	\$325.00	\$2.48	\$322.40	\$2.36	\$306.80	\$2.48	\$322.40	\$2.50	\$325.00
23	4	S.F.	Curb Piece, Type N-ECO	\$380.00	\$1,520.00	\$350.00	\$1,400.00	\$400.00	\$1,600.00	\$410.31	\$1,641.24	\$375.00	\$1,500.00	\$350.00	\$1,400.00
24	4	S.Y.	Bicycle Safe Grates	\$380.00	\$1,520.00	\$375.00	\$1,500.00	\$400.00	\$1,600.00	\$360.83	\$1,443.32	\$375.00	\$1,500.00	\$370.00	\$1,480.00
			Sum of Bid		\$52 0C4 C2		\$47.204.00		\$97 024 4E		\$48,951.16		\$AA CE4 2F		\$44.064.04
			oun or blu		\$52,861.62		\$47,291.00		\$87,034.15		\$40,831.1b		\$44,651.35		\$44,061.81

## 2023-02 CAPITAL IMPROVEMENTS ROADWAY TOTALS

ROAD	Stavola Contracting Co.	<b>DeSantis Construction</b>	Black Rock Enterprises	<b>Top Line Construction</b>	American Asphalt	Stilo Excavating
Independence Drive	\$180,833.92	\$186,007.25	\$199,395.06	\$173,634.43	\$176,621.76	\$170,134.57
John Hancock Avenue	\$87,400.42	\$96,364.80	\$112,193.00	\$84,641.80	\$85,172.70	\$64,176.26
1 th and a Toron		<b>A</b>				
Liberty Trail	\$46,223.67	\$39,988.05	\$68,770.70	\$39,942.99	\$33,727.90	\$35,377.96
Fairfield Lane Sect 1	\$319,890.42	\$369,794.75	\$371,958.00	\$338,574.46	\$256.704.02	¢247 475 20
Taillield Laile Geot T	\$315,050.42	\$309,194.15	\$37 1, <del>3</del> 56.00	\$330,3 <i>1</i> 4.40	\$356,791.03	\$347,175.39
Slater Court	\$182,940.32	\$204,056.90	\$220,558.09	\$191,084.59	\$204,736.61	\$191,821.43
			, , , , , , , , , , , , , , , , , , , ,	7	<b>, , , , , , , , , , , , , , , , , , , </b>	<b>*************************************</b>
Radnor Court	\$52,861.62	\$47,291.00	\$87,034.15	\$48,951.16	\$44,651.35	\$44,061.81
GRAND TOTAL BIDS	\$870,150.37	\$943,502.75	\$1,059,909.00	\$876,829.43	\$901,701.35	\$852,747.42